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11-7 a.Find the values of ( for which the fouth and fifth secondary maxima of the single-slit diffraction pattern occur(see the dicussion surrouding Figure11.3)

b.Find the ratio of the irradiance of the maximum of part(a) to the irradiance at the central maximum of the single-slit diffration pattern.

Sol:

[image: image1.png]insl= Plot[(Tan[x], x}, {x, -67, 67}

Oupls - Graphics -

= FindRoot [Tan[x]
FindRoot [Tan[x]

x, {x, 431
x, {x, 1511

Oapl (x- 14.0662)

Ouple (xo 17.2208)
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14.0662 /70

owple 4.47741
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17.2208 /70

5.48155





b.I(=4.47(/ I(=0= sin24.47*180/(4.47()2 =1/199
  I(=5.48(/ I(=0= sin25.48*180/(5.48()2 =1/298
